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MAC 2311 - Analytical Geometry and Calculus I
Quiz # 8, March 5, 2024

Problem 1 Given y = t + sin(t)+2 as t goes from 2p to
13p

6 .

a.) Calculate Dy:

b.) Calculate dy:
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Problem 2 .

a.) Use linear approximation of f (x) = 3
p

x at a = 8 to find an approximate value for f (7.76).

A.) 1.975

B.) 1.98

C.) 1.985

D.) 1.99

E.) 1.995

b.) Find an approximate value for ln(2.6) using linear approximation.(Hint e ⇡ 2.718281... .)

A.)
1
e (2.6� e)+1

B.)
1
e (2.6�2e)+1

C.)
1
e (2.6+ e)+1

D.)
�1
e (2.6� e)+1

E.)
1
e (2.6� e)+1
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fix x f x 123 I point
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2

points
2 1 2

1717 nm f e late I

find file
a e

e file sa e flel

x e l l lpoint

In 26 f 2 6

Lece6

2.6 e I flpoint


